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QUESTION 1

Which of the following statements is FALSE regarding the EPS bearers?
A. An EPS bearer is either a GBR bearer or a Non-GBR bearer.

B. An EPS bearer is either a default bearer or a dedicated bearer.

C. A dedicated bearer can be a GBR or a Non-GBR bearer.

D. A default bearer can be a GBR or a Non-GBR bearer.

E. A UE can have multiple GBR or Non-GBR bearers.

Correct Answer: D

QUESTION 2

In a 3G network, which of the following is used to build a PDP context between a UE and the GGSN when a direct
tunnel is not used?

A. An end-to-end GTP tunnel between the UE and the GGSN.

B. A Radio Access Bearer between the UE and the NodeB and a GTP tunnel between the NodeB and the GGSN.
C. A Radio Access Bearer between the UE and the SGSN and a GTP tunnel between the SGSN and the GGSN.
D. A Radio Access Bearer between the UE and the SGSN.

E. None of the above answers are correct.

Correct Answer: C

QUESTION 3

On Alcatel-Lucent 7750 SGW, which of the following CLI commands can be used to check the TEID-U values assigned
to an EPS bearer for a particular UE?

A. Show mobile-gateway serving pdn-context

B. Show mobile-gateway serving pdn-context imsi detail
C. Show mobile-gateway serving ue-context

D. Show mobile-gateway serving ue-context imsi detail

E. Show mobile-gateway serving bearer-context

F. Show mobile-gateway serving bearer-context imsi detalil

Correct Answer: F
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QUESTION 4

A dedicated bearer 6 has a total of six SDF filters. Based on the information shown in the exhibit, which of the following
is the right order to apply the filters to the downlink traffic?

INSI 3 30272012345678¢
AP : ipd.alcatel-lucent.con
Bearer Id 6 Bearer type : Dedicated
QCISARF 2 2412 SDF= 2=,
Up Time 3 Dd 00:00:06
SDF rule name : rule-1
SDF precedence =30 SDF pkr filters @2
SDF Qo2 UL MBR : 150 Kbps SDF QoS DL MBR  : 150 Ebps
SDF Qo3 UL GER 3 100 Fhps SDF Qo3 DL GHR : 100 Fbhps
Filter id 30 Filter direction : DL
Filter protocol : tep
Source address : 10.10.6.2/32 SDF rule name + rule-3
Source ports t 20 - 21 o
Destination addr @ 5.5.12.22/32 SDF precedence 220 SDF pkr filters 2
Filrer id . Filter direction : UL 3DF QoZ UL MBR : 200 Fhps SDF Qo5 DL MER : 200 Ehps
Filter protocel : tep 5DF Qo3 UL GER : 150 Fhps SDF Qo3 DL GER t 150 Fhp=
Shurce addresa + 5.5.12.22/32 Filter id 3 4 Filter direction : DL
Destination addr @ 10.10.6.2,/32 Filter protocol : udp
Destnation ports = 20 - Zl Source addreas @ 16.1.1.1/32
Source ports $ 150 = 155
SOF rule name + rule-2 Pestination addr : §,5.12.22/32
bl Filtex 1d =% Filter dizection : UL
SDF precedence : 10 SDF pkt filters : 2 Filrer protocol @ udp
SDF QoS UL HBR : 200 Kbps SDF Qo5 DL MER  : 200 Kppd Source address @ 5.5.12.22/32
4DF QoS UL GBR. : 150 Fbps 3DF QoS DL GER  : 150 Ebpi Pestination addr : 16.1.1.1/32
Filter id 22 Filter direction : DL Destmation ports : 150 - 155
Filter protocol : udp
Source address 2 18:1.1.1 /32
Source porta = 100 =120
Destination addr : 5.5.13.22/32
Filter id ke Filter direction : UL
Filter protocol @ udp
Source address SR B
Deatination addr : 16.1.1.1/732
Destnacion ports : 100 - 120
<The rest outputs shown in the right window:-

A. The filters: 0 (first), 1, 2, 3, 4, 5 (last).
B. The filters: 2 (first), 3, 0, 1, 4, 5 (last).
C. The filters: 0 (first), 2, 4 (last).
D. The filters: 3 (first), 5, 1 (last).
E. The filters: O (first), 4, 2 (last).
F. The filters: 2 (first), 4, O (last).

Correct Answer: F

QUESTION 5

Which of the following statements are TRUE regarding the Predefined PCC rules? (Choose two) A. The Predefined
PCC rules are preconfigured on the PCRF.

B. The Predefined PCC rules are preconfigured on the PCEF.
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C. The Predefined PCC rules are preconfigured on the MME.
D. The Predefined PCC rules are activated or deactivated by the PCEF at any time.
E. The Predefined PCC rules are activated or deactivated by the PCRF at anytime.

Correct Answer: BE
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